
1
07

.5
8f

7
6 cm

Passage libre = 2000

Réservation = 2100

Passage Utile à 90° = 1962

981

Passage libre = 1000

2550 = Réservation

2500 = Passage libre

2568 = Hors tout

L
arg

e
ur pla

n
 :

H
au

te
ur plan

 :

S
up

po
rt :

N
om

 +
 S

ig
na

tu
re

 :

L
arg

e
ur :

H
au

te
ur :

R
éserva

tio
n B

a
se

 M
arché :

R
écep

tio
n

 de
s su

pports

F
IC

H
E

 D
E

 S
Y

N
T

H
E

S
E

L
o

ca
lisation

 :

D
ate**/**/**

C
ha

n
tie

r :

B
âtim

en
t :

E
tag

e :

In
té

rieu
r

E
xtérie

ur

In
d :

D
ate :

2
0/0

4
/20

21

C
lo

iso
n

 M
aço

nnerie

2
10

0 m
m

2
55

0 m
m

L
a

rg
e

u
r p

a
ssa

g
e

 lib
re

 (180°) :

H
a

u
te

u
r p

a
ssa

g
e

 libre :
2

5
0

0
 m

m

B
on

 p
ou

r a
ccord le :

m
m

m
m

1
0

0
0

+
1

0
0

0
=

2
0

00m
m

0

L
ocal B

T
 / P

F

L
arg

e
ur :

H
au

te
ur :

R
éserva

tio
n V

a
lidée :

- m
m

- m
m

M
a

rq
u

e
 d

e
 p

o
rte :

P
e

rfo
rm

ances
 ch

a
n

tier :

E
q

u
ip

e
m

en
ts

P
O

R
T

E
M

E
T

A
L

T
yp

e
 d

e
 ca

dre :

M
o

d
è

le
 :

T
-c

h
ek

R
é

f :

R
A

L
:

A
P

P
L

IQ
U

E

2
 F

e
rm

e
-p

o
rte

 à
 G

lissiére
(O

P
P

O
S

E
 p

aum
elles)

T
S

31

7
03

5

L
a

rg
e

u
r p

a
ssa

g
e

 U
tile

 (90°) :
1

9
6

2
 m

m

C
o

u
p

e
-F

e
u

 E
I 60

P
R

E
M

IU
M

R
e

p
è

re
 :

P
3

F
ire

stop

U
n

e
 va

lid
a

tion est D
é

fin
itive et

 a
u

cu
n

e
 m

o
d

ifica
tio

n
 n

e
 p

o
u

rra
 être accordée.

!

Repére123456789

C
ré

m
o

n
e

 p
o

m
p

ie
r E

ncastrée
B

A
32

S
é

le
cte

u
r d

e
 F

erm
eture

S
F

2

A
ffaire

 1
2

8
3

 : D
e

m
i-Lu

ne

*---

N
ivea

u
 -1

C
lien

t :

C
ylin

d
re

 ro
nd D

E
N

Y

P
o

ig
n

é
e

 ro
sa

ce fixe
 (C

O
T

E
 p

a
u

m
elles)

R
e

f : 35510
D

e
n

y
B

a
rre

 A
n

tipanique
 2

 cylin
d

re
s ronds

R
e

f : 3
257-8

C
ylin

d
re

 ro
n

d
 T

H
IR

A
R

D
R

ef :
 ID

F
 220

à
 b

é
q

u
ille

 rosace

2
 P

la
q

u
e

s d
e

 propreté
 +

 B
u

té
e

 de porte
A

C
2

0 +
A

C
14

S
e

n
s d

'O
u

verture P
M

P
o

u
ssa

n
t D

R
O

IT
E

S
e

n
s d

'O
u

ve
rtu

re C
lient

G
A

U
C

H
E

 P
o

ussa
nt

L
a

 p
o

se
 d

e
 la barre

a
n

tip
a

n
iq

u
e

 à
 2

 cylindres, ne
fa

it p
a

s p
a

rtie
 du P

V
 F

eu de la
p

o
rte.

!

5
 p

a
u

m
e

lle
s p

a
r vantail

1
In

d:
D

ate:
1

3/0
9

/20
21


